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» char *p = "abc";

» printf("%s %s\n", p, p + 1); /* abc bc is printed */
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»char *p = "abcde";

»char s[] = "abcde";

/* char S[ ] — 'CI', 'b', 'C', 'd', |e|, I\O'}; */
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#include <ctype.h>

int word cnt (const char *s)

{

int cnt = 0;
while (*s != “\0') {
while (isspace(*s))
++s;
if (*s !'= "\0') {
++cnt;
while (!isspace(*s)
++s;

}

return cnt;

/* skip white space */
/* found a word */

&& *s != "\0') /* skip the word */
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char *strcat(char *s1, const char *s2);
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int stremp(const char *s1, const char *s2);
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char *strcpy(char *s1, const char *s2);
> 20| 2XH2 \00| LIS W7HX| 510} 2 A}

size_t strlen(const char *s);
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size t strlen(const char *s)

{

size t n;
for (n = 0; *s != '"\0'; ++s3)
+4n;

return n;

char *strcpy(char *sl, const char *s2)
{

register char *p = sl;

while (*p++ = *s2++)

14

return sl;
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char sl1l[ ] = "beautiful big sky country",
s2[ ] = "how now brown cow";

4 %

strlen(sl) 25

strlen(s2 + 8) 9

strcmp (sl, s2) 20 XL

25 35

printf("%s", s1+10); big sky country

strcpy(sl + 10, s2 + 8);

strcat(sl, "s!'");

printf ("%s", sl); beautiful brown cows!
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#include <stdio.h>

#include <string.h>

int main ()

{
char bad str[15];

strcpy (bad str, "short string");
printf ("$s\n", bad str);

strcpy (bad str, "very very very long string");

printf ("$s\n", bad str);

[kgu@lily str]$ ./a.out
short string

very very very long string
MOHMEHO|M 287 (core dumped)
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#include <stdio.h>

#include <string.h>

int main ()

{
char bad strl[15];
char bad str2[15];

printf ("$s\n", bad strl);
printf ("$s\n", bad str2);

printf ("$s\n", bad strl);
printf ("$s\n", bad str2);

strcpy (bad _strl, "12345678901234");
strcpy (bad str2, "short string");

strcpy (bad str2, "very very very long string");
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[kgu@lily str]$ ./a.out
12345678901234

short string
ong string
very very very long string
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#include <stdio.h>

#include <string.h>
#define GOOD STR LENGTH 15
int main ()
{
char good str[GOOD STR LENGTH + 1];
strncpy (good str, "short string",
GOOD_STR LENGTH) ;

printf ("$s\n", good str);

strncpy|(good str,

[GOOD STR LENGTHJ;

printf ("$s\n", good str);

"very very very long string",
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HIH @ HZ 2 P (buffer overflow) &4
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»strcpy -> strncpy

» strcat -> strncat
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